HICI DL | Simplification

Type-9 (Surds & Indices)

X
If 20,014 x0.14x = 0.014x0,14%y then ; is
equal to
. X
e 20,014 x0.14x = 0.014x0.143y S, FEE A
AT ?

(A) 0.000196 (B) 0.00196
(C) 0.0196 (D) 0.196
¥ yalyzaz =2
(A) xyz (B) (xvz
1
(€) 0z (D) 1
1iuh 1/ be 1/ ca
t x(' xﬂ

(

[ )Xl,."aljc'

[C) Xl,-"lfal:+|:c‘+c‘a]
(

D) None of these

If g% 4 2% =13+ , the value of x is—
q‘&" 5\.; + ]2\: — 13\; s‘l[} T‘ﬁ' X ohl HH 3-\|T|'|_

25
T (B) 4

=4 o2 2] e
3 T+ 4 o~

1 1
The value of - +
1+x"™ +x

c—h a-b

1+x" +x

C=a

aA—-C

1+x""+x

1 1 1

+
1+x"2 4 x5 1+xP+x 1+x* +x"°

FAAE —
(A) 1 (B) 2
(€) 3 (D) 4

4|| ><2()||| | ><121|| " X15m||| e}

The Va-]-ue Of 16m X5'2|||||| Xgm |

is -

411 e Qom—l s 1 Qm—n % 1 5m—n—2
16m % 52m—n % gm—l

HHAAE —

1 1
A5 B g © 105 D3

The value of

0o 1] o1 0en”
(0.9 .37 [%r (243"

(A) 3 (B) 0.03
(C) 0.3 (D) 30

If the value of

52.5%52,5-2493.75+47.5%47 .5
525" +475"
find the value of k=7

. 52.5%52.5-2493.75+47.5%x47.5
525%+475"

1 A ;T Hiferg ?

(A) 3 (B) 4

(C) 5 (D) 6

is /AMAAE —

= 10% Then

= 10 fR
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10.

11.

12,

13.

14.

[f2=4r =8 and xyz = 288, then the value of
L _'_L + L H

ox 4y "6z 7

2= 47 =873 288, 1,2, =

S SRz =288 T, Ty e

A G A 7

A 1 B 1

(A 5 ®)

C L D 1

(©) 1o (D)
If xm= "¥x./x/x then find the value of m.

A xm= WixJx B A mEARFE ?

A 1 B 1
(A 3 (B) 3
C & D ’
© 5 D) 5
[f 2=+ 21*m = 24 then what is the value of m?

Elﬁgm.‘. 2|+"'=24%:T}?ﬁmqﬂqﬁw%?

wo @3 ©3 (D)6
If 16 x 88*2= 29 then m is equal to.
g 16 x 8 *2= 2" Tl m frmr g € 7
(A)n+8

(B) 2n + 10

(C)3n + 2

(D) 8n + 10

W2

2
The expression [(\/5) } gives,

siws ()] =2

(A) anatural number/ = gui® &
(B) an integer and not a natural number

ot & SR o g et §
(C) a rational number but not an integer
(D) a real number but not a rational number

15.

16.

17.

18.

19,

Ifpr=17=
the following is correct ?

A p*= 17 = m R 1~ = pr= n §, T Fefefias § 4 Fm-
T UF FEIE ?

(A) xw=yz
Clx+y=w+tz

m and r* = p?= n then which one of
(B) xz = yw
D)x-y=w-z

1 15 |2
Find the value of [7[643 +273] ]

. 1 1 il 4
7[643 +273] ] =R T T A

(A) 7
(C) 49

(B) 6
(D) 343

[f9* = UYoqa , then what is the value of x?

ACO*= |43 B, WX T AT FNE ?
(A) 5/11

(B) 5/22

(€) 5/7

(D) 5/33

What value of 'p' will satisfy the equation

p 240 i

340 p

P
(B) 10

(C) 6310 (D) V10

What is the simplified

{3125 +43/25 + 33675 7

3125 +43/25 + 3375 1 AT AT AL ?

(A) 18Y25

(B) 5425

(C) 9125

(D) 3125

HHIHT0T I W BT 7

[&]]
g
=

P 1 RITE A

(A) 6

value of
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(17)’; T (7)’;
20. If /=R ( =24,

17% 4+ 7% - k)
then what is the value of &7
A kR ARTIE?
(A) 119
C) 24

4| (17)" - (7)']

(B) 128
(D) 109

21. If (172 L7y »

of p?

4|17 -(7) |
(_17'2 + 7
(A) — 119

(C) 119
The value of

428 x 428 x 428 + 348 x 348 x 348
428 x 428 - 428 x 348 + 348 x 348

(B) - 129
(D) 129
22.

428 x 428 x 428 + 348 x 348 x 348
428 x 428 - 428 x 348 + 348 x 348

=1 AT =4 B ?

(A) 776 (B) 62080

(C) 80 (D) 40

Which of the following statement i

frefafea § S A W TR TS ?

I. The value of 100% — 9G% + 084 —
952+942-093%+ ... + 2022
1002 — G9% + 982 — 97% + 96

23.

‘) = 40, then what is the value

p) =40%, M pF AR FNE?

is:

s correct?

7% + 96% —
1% is 4840.

— 952 + 044 —

932 +........ + 222212 T HE 4840 B\

1 1
K2+ — ||k—=
II. The value of[ k’zj[ kj[

1
k4+k_’1]

24.

25.

Maths « Simplification

is Kk's — L

e

2 1 4 1
1I. [k o ][K_I][k +K—4JW1T|=rk1° P g
(A) Neither I nor I/ 1 & AT &t
(B) Only I1/ %= 11
(C) Only [/ Faa [
(D) Both I and 11/ 1@ I1 €=
Simplify the following.
FfeaEs =l T = |
253 =75 + 507
(A) - 281250 (B) 281350
(C) 271250 (D) - 281450
What is the value of
e
k k* K’
[ J[klfz k}ﬁ}(kﬁ'ﬁ + ki‘z] 'p
1
kf J( )5
b Lr: 1 32 1
k k F E +— o FHE FNE ?
K0 }4 AR 1)
k.) kd_
A B
(A 1 B 1
k
AR 1” 24 i-)
C D
(© k+% ®) k+l
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(o SOLUTIONS &)

1. (B) J0.014x0.14x=0.014 x0.14,fy

Doing square of bolh sides
0.014 x 0.14x = (0.014)* x (0.14Y v

= X 0.014x0.14=0.00196
¥

1 1 1 — X E 521
2. (D) Jx'yxy'zxiz'x =" yx 5

1 1

3 (A) (X—] . [Xc ] (X ] N
X X X
4. (B) ATQ5% 4125 =13%
As we know, 3%+ 122 =1
By comparison,
=2
=>x=4
O T 2
X+—||x=-=| |+||¥y+=||¥y-—
¥ ¥ ) X/ \ X
=(xy+n1) (xy:l) L X ﬂx b i
y Y (xv+1)" (xy - 1)
{EJﬂh
Ay
1 1 1
A . +
6 ( ) J.XX} J+Xs:1 1XX‘: h+xu} lXX'J s.+X} 3
X) X}\ }\(

ATt T X+ xE

B Xu_"_xh_"_xs: _’I
x4+ x" 4 x°

411 w5 201.11—1 % —lzm—n w5 —l:—)m—n—Z

(0.3)
8. (O

(=

1

[21_7] (9)F (081)

=
E

SRRV

(0.9)3

1

(3)

1

s

j 2 (243) 3

ISR
(3

4 1

3 3 %37 x10* x 34 ><3:"

3

1

I 7
3271 510

= 19

3

4

107

4 1

3
=15 =03
Juxige ¢

~10°

10* % 3 x10% x3* x 3*

10 *

:k:

5

10. (A) 2=4=§
= 2x = 223-' = 23z
=x=2vy=3z

Given, xyz = 288

=X X S =088

SX= J6xboxbx2x2x2 =12

2

3

So,y=6,z=4

1

—+
= 2x

= 14

X ®X

1
4y

11.(A) xm= 1/, [z

5]

X" = 14 7/4

/4

LIV LI I
hz 24 24 24 8B

1

1

= (525+475) 1000 10°

1

1

= 10-5

7. (B) REITRer T
16™ %27 " x9 xn= x1 11 =
_ 22n ><22m—2 x:—)m—] ><22m—2n ><3m—n ><3m—n—2 ><5m+n—2 1
- o glmin ol 2 = XM= 8
1 1
=972x 730 L = —
27T 50 M=y
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12. (C) e €, 2m+ 2/ =24
S22+ 2 Dm=024 5 2ml +2) =24
= 2.3 =24 = 2= 8 = 2
Lm=3 [va"T=a —=>m=n]

13. (D) T E 16 x 822 = 2m=(2)* x 2922 = 3n + 10
= QW rantol= pm o QAN = gm
=3n+10=m

Sm=3n+ 10

[.‘.an= am:> n= m]

14. (D) femn o w=iors = [(\/5)}

it To wn A fore den § T vt g =g €1
15. [A) ﬁtﬂ' %: px =¥ 1= px.-'r.\"
qq pe= 1% = 1 = p¥

T=ft (i) 7 (ii) &

wfv e = _

P =P

g [~

X
y

= XW = yZ

L
16.(A) 7 {(6413 4 27}1@. T } 1 A [(4 . 3)3 J”‘ _,

17.(B) 9* = 1243

P N
18.(C) JEa0 _2;}0

= P= %10
3125 + 4325 + 33675
=5325 + 4325 + 3x3%25

= 18325

19.(A)

Maths « Simplification

17y’ +(7)

172+ 72-k) 24

20. (A)

a+h =17+ 7 =24
a*+ bt
az+b?—ab

k=ab=17 x7 =119,

~(a+b)

407y —(7)']

T

21. (C)

L7 =]
1724+ 72+ P

a* - b* = (a-b) (a* + b* + ab) {identity}
|17 - 7|[17%+ 724 7 x17 |
172+ 72+ P
L72+ 744+ P=172+ 72+ 7 x 17

P=17x7=119,

=10

428 x 428 x 428 + 348 x 348 x 348
428 x 428 - 428 x 348 + 348 x 348

22. (A)
Identity, a* + b* = (a + b) (a% — ab + ©?)

(428 + 348)(428 x 428 — 428 x 348 + 348 x 348}
428 x 428 - 428 x 348 + 348 x 348

= 428 + 348 = 776.
23. (C) Statement - 1
L. 199+ 195+ 191 + ...vevenenen. + 43.
¢ =a+(n-1)d
199 =43+ (h- 1)x 4

g n
||_ 2 (a+'()

40
= 7[43 + 199]

=20 x 242 = 4840
Statement -1 is carrect
Statement - 2 is wrong.

Only statement - 1 is carrect.
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24, (B} 97 x 103 . N N N . N
(100 - 3) x (100 +3) |\kz _ k'z,H\kH . /||\k*j o /||\k1@ + e ](k;\z * e
= f(a-bj(a+tb=a-b? er !
= (100)* - (3)* k
= 9991, similarly,
2 _h2 = -
[k_l][k2+iJ(k4+iJ(k3+i a b (a b] [a+b)
25. (A) P P K K _ 1
kiﬂ _ o4
5 el
[k1°+k%][kw+k£2]x ' ;f k+£
. . (k+ ]
.k
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